Practice 9.3

Name(s)

Solve the inequality.

1) |x+19]<7

2)  Ix]-6=1

3) |8k+9]<-8

4)  |x-15]>9

5 Ix]+2=5

33



6)

7)

9)‘

|8k - 2] > -3

[x-3] =20

Ty + 28 <7

5y + 20 > 5
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Answer Key
Testname:

1) (-26, -12)

6(-H-H-hhH-H-H-I-)—H—H—H—H—H—|—H+H—|—H—H—|—FH—FH—|-)

-25 -20 -15 -10 -5 0 5 10 15

2) [-7,7]

4) (-»,6) U (24, x)

@)—H—l—H—l—FH—l—l—H—H—l+(-hH-hhhH—H—H—H—H—hH—I—hhhH)

10 15 20 25 30 35 40 45

5) (-2, -3]U [3, )

e
10 5 0 5 10
6)(_00’00)

01 2 3 4 5 6 7 8 9 10 11 12 13 14

7) (-, =)
T T e
8) (-8,0)
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